
DISCUSSION PAPER SERIES

������������

No. 2580

SELF-CONFIDENCE:
INTRAPERSONAL STRATEGIES

Roland Bénabou and Jean Tirole

INDUSTRIAL ORGANIZATION



ISSN 0265-8003

SELF-CONFIDENCE: INTRAPERSONAL
STRATEGIES

Roland Bénabou, Princeton University and CEPR
Jean Tirole, Institut D’Economie Industrielle, Université des Sciences Sociales

de Toulouse and CEPR

Discussion Paper No. 2580
October 2000

Centre for Economic Policy Research
90–98 Goswell Rd, London EC1V 7RR, UK

Tel: (44 20) 7878 2900, Fax: (44 20) 7878 2999
Email: cepr@cepr.org, Website: www.cepr.org

This Discussion Paper is issued under the auspices of the Centre’s research
programme in Industrial Organization. Any opinions expressed here are
those of the author(s) and not those of the Centre for Economic Policy
Research. Research disseminated by CEPR may include views on policy, but
the Centre itself takes no institutional policy positions.

The Centre for Economic Policy Research was established in 1983 as a
private educational charity, to promote independent analysis and public
discussion of open economies and the relations among them. It is pluralist
and non-partisan, bringing economic research to bear on the analysis of
medium- and long-run policy questions. Institutional (core) finance for the
Centre has been provided through major grants from the Economic and
Social Research Council, under which an ESRC Resource Centre operates
within CEPR; the Esmée Fairbairn Charitable Trust; and the Bank of
England. These organizations do not give prior review to the Centre’s
publications, nor do they necessarily endorse the views expressed therein.

These Discussion Papers often represent preliminary or incomplete work,
circulated to encourage discussion and comment. Citation and use of such a
paper should take account of its provisional character.

Copyright: Roland Bénabou and Jean Tirole



CEPR Discussion Paper No. 2580

October 2000

ABSTRACT

Self-Confidence: Intrapersonal Strategies*

This Paper explains why people value self-confidence, and how this concern
shapes their informational strategies and intertemporal decisions. The theory
has applications in areas as diverse as labour supply, savings and investment,
or education and career decisions. People generally have imperfect
knowledge about their abilities, which in most tasks are complementary to
effort. Self-confidence thus enhances motivation and this gives a time-
inconsistent individual a strong incentive to build up the self-esteem of his
future selves, so as to limit their procrastination. The benefits of confidence-
maintenance must, however, be traded off against the risks of overconfidence.
Moreover, rational inference implies that the individual cannot systematically
fool himself. The model explains why people often choose to remain ignorant
about their true abilities, or ‘blind’ to important signals from their work,
personal or market environment; and why they sometimes deliberately impair
their own performance or choose over-ambitious tasks in which they are sure
to fail (self-handicapping). It also provides a formal account of (endogenously)
selective memory or awareness, such as the tendency to remember one’s
successes more than one’s failures. This result, in turn, helps explain why
most people have overoptimistic assessments of their own abilities and
accomplishments (self-serving beliefs). Another important result is that this
‘psychological immune system’ can lead to multiple intrapersonal equilibria in
cognitive strategies, self confidence and behaviour. Moreover, while ‘positive
thinking’ and similar forms of self-deception can improve ex ante welfare, they
can also be self-defeating.
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NON-TECHNICAL SUMMARY

Throughout history, the maintenance and enhancement of self-esteem has
been identified as a fundamental human impulse. Philosophers, writers,
educators and of course psychologists have long emphasized the crucial role
played by self-image in individual motivation, affect and social interactions.
This Paper brings these concerns into the realm of economic analysis, where
they have important implications in areas as diverse as education, career and
investment decisions, or family and workplace relations. Conversely, it uses
the tools of economics to show that a number of puzzling facts and behaviour
documented by psychologists are often quite rational and to analyse when
these strategies are effective and when they backfire.

We thus develop a formal framework that explains why people value
self-confidence, and how this concern affects their cognitive and
decision-making processes. Its first premise is that individuals often have
imperfect knowledge of their own abilities and other enduring characteristics.
More generally, they are uncertain of the long-run payoffs of their efforts and
constantly learn about them from experience and interactions with others. The
second premise is that these self-perceptions affect one’s incentives to
undertake or persevere in a variety of tasks. Thus, with ability being a
complement to effort in determining performance in most activities, a higher
self-confidence enhances the motivation to act. (We also consider the case of
complements). The third premise, for which both experimental psychology and
everyday life provide ample evidence, is that individual decisions exhibit a
‘salience of the present’, in the sense that discount rates are much lower at
short horizons than at more distant ones. As a result of this present-bias,
people are often too tempted – in their own eyes – to seek immediate
gratification at the expense of their long-run interests, procrastinate effort and
give up in the face of adversity. In the absence of sufficient outside
commitment mechanisms, this time-inconsistency of preferences generates
strong incentives for the manipulation of self-knowledge: the individual’s
current ‘self’ has a vested interest in maintaining and enhancing the
self-confidence of future ‘selves’, so as to counter their natural tendency to
procrastinate or give up too easily. Intuitively, good news about one’s ability or
expected productivity alleviate the under-provision of effort or resilience,
whereas bad news only worsens it. The motivation benefits of
confidence-maintenance must, however, be traded off against the risks of
overconfidence, which leads to inappropriate tasks being pursued. Moreover,
rational (Bayesian) inference implies that the individual cannot systematically
fool himself. More generally, individuals who are not completely naive, but
endowed with the uniquely human capacity for introspection, will at least
partially understand that their cognitive processes (memory, interpretation) are
subject to opportunistic distortions.



Our model of rational self-deception explains why rational individuals often
choose to remain ignorant about their own abilities, or ‘blind’ to important
signals from their work or personal environment; and why they sometimes
deliberately impair their own performance or choose over-ambitious tasks in
which they are sure to fail (self-handicapping). Equipped with a simple but
plausible memory or repression ‘technology’, it also provides a formal account
of the phenomenon of selective memory or awareness, namely people’s
tendency to remember ego-enhancing, rather than ego-threatening
information (e.g. their successes more than their failures). This, in turn, helps
explain the widely documented prevalence of self-serving beliefs – that is, the
fact that most people have overoptimistic assessments of their own abilities
and other desirable traits (both in absolute terms and relative to others).

We also show that this ‘psychological immune system’ often leads to multiple
intrapersonal equilibria in cognitive strategies, self confidence and behaviour.
This multiplicity may provide a role for benevolent outside parties, such as
parents or therapists, to help the individual better coordinate and escape the
‘self-traps’ in which he might be stuck: depressive state of low self-esteem,
chronic blindness to his own failings, etc. Most importantly, we show that while
‘positive thinking’ and similar forms of self-deception can indeed improve
ex ante welfare, they can also be self-defeating, (e.g. inferior equilibria) so that
it might be better to always ‘be honest with yourself’ – if you can. Finally, the
Paper also helps explain why people sometimes attempt to lower their own
self-confidence, as such defensive pessimism may serve to guard against the
temptation to ‘rest on one’s laurels’.
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�	 ���� ��	 ���� ��
�	��%������������ ������ 
	 ����	� ��� ��	 ���������� $��� ��	 ����	� �	��%
	��		��

�f�� � � �f���� -�7.

!� $	 ����( �� �	��%������������ �� �� ������ ���� ����
��� �	��������	 �� �
���(� ��	 ����
����� ���� $���� �		� �� 
	 ����	�� ��	 ����	� ��	 ��
F	��H�
�	��	��	� �
����)0 ��� �������	� ��	 ����	� ��	 ���
�
����) �� ����	�� �� �
���(� ��	 ����	� ��	 ���� �� 
������� ��	 ���(0 
�	�	 ��	 ���� ������
�	
	=����	�� ��$	�	�� $�	�	 -�7. �� �	�	��	�0 6��� �� ��	 ���	 ��� �������	 ��

4:�����	����	� ���	� ���	��	�� �	���)� ��������� 	=���	� ��� ��	H� ���� �	��������	
�� ���	�� ����	���
�) ��) ������	 	=���	� �� ��	�	�� ��� �������� �	��%	��		�� �� ��	
	=�	�� ���� ���	�� ��) 
	���	 ��;	�	���) �� ��	 �����	0

�8



��	 ���( �� �� � ����N���� �����	 -��� 	=����	 �� 	=��.� 
�� ��) ���� )�	��
	��%�	�	���� ����������� -	0�0� ��	 ����	.0 � ���	 �	��%�����	� ����������
��� ���� ���	 ���	�) 	����	 �� �	��%������������� �� �� �� ��	 ��(	 ��	
����	 ������������	� $������ ���� ���( �� �������) �������0

������ ��$ �� ��	 ����)��� �� -��.� $	 ��$ 	����	� ���� ��	 '#�&

�����	� ���� ��	 	=��	����� �� ��	 �	��%���� ���	 �� ����	� ���� �� � $	�	
�	����	� $��� � � ����	 $�� ��	 ��������) ���	 �	��%���:�	�� ���	 �
�� 


�
��0 <�$	�	�� ��	 '#�& ���� �����	� ���� � ����
	 � 
 � ����
	 � � $����
�	��� �� ��(	 ��	 �����%���� ���	 �� -��. ���� ����	� ���	� � ���� ���	� � �
��	 ���	 �	��%���:�	�� ��	 ���� ������ �� �	�	��	 
�� �	$�� ��� ���� �	���	�
��	 �	���� �� ���	����� �f �� ?���>�����������@0 
��� 	;	�� �� ��������	�
$�	� -�7. ������ ��� $	�(	�	� �� ��	 �	�	��	 ���	0

���� �� �	�	���� ��	 ������ �������	 $�	��	� �� �� ��	 ���������� $���

����	� �� ��$	� �	��%���:�	��	 $���� �� ���	 ��(	�) �� �	��%��������0 
���
��
�����) �� ������	�����) ���(	� �� ��	 �
�/�
�


����
� 
� �	��� 
� ���
�/
�	
�
� �8 � $���� $�� ���	� �� �� ��	 	�� �� 6	����� 7070 ����	 ��	 '#�&
	����	� ���� ��	 ���� 
� �8 ����	� ������������) $��� ������� �	��%���:�	��	�
$��� ����	�� ��� �	��%������������ �� ��	 	��
��
� 	�
��
 $���� ��	 ����%
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	 �� ����� �� ��	 ����	� �)����	��� -$���� $����
�� �	��� 
	 �������	�� $��� &���������� �.0 
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���� �	���	 ���	� 	����	 �� ����0	�
	���4 ��	) �	�	�
	� ����	��	� ���
����	� ������	�� ��� ��	$ ��	��	��	� �� �������	���� ��� ���� 
�� ��� 
��
������	�04; 6�������)� $�	� ��	) ������ � 
�� ���� ��	) �� ��� �		� ��
���$ ��	 ���� ���	�	��	 �
��� ��	�� �	��������)0 
�	) �	����	 �	��������	 
)
��)��� �� �������	 ��	��	��	� ���� ��	 ��� $�� ��� �� 
�� -?�	 �	�	��	� ��@�
?��	 �����	 $�� �����	�@� ?��	 	���	��	 ����	����� ��	 	=�	�� �� �����	
�� 
���	�@.B ��� ��	) �����
��	 ��	 �	������
����) �� ���	��04<


�	 �	����� 
	�$		� ?��� �����
������@ �	����	� �� �������� ��� 	�%
����	 �	��%	��		� ��� ?���� �����
������@ �����$��� �������� ���	�	��	 ����%
����	� ��� ���� ���� 
		� �	�����9	�0 ��� �������	� 6����	 -��28. ����	�
���� ��	 ���������� ���� ��������	����) (��$ ��� ��� (��$ ��	 ���	 ��%
���������0 "�� ��� 6��(	�� -��D�. �	:�	� �	��%�	�	����� �� � ��������� ��
$����� �. ��	 ���������� ����� �$� ������������) 
	��	��B 
. �	 �� ��� �$��	
�� ������� ��	 �� ��	 
	��	��B �. ���� ���( �� �$��	�	�� �� �������	�0

��� �	����� 
����� �� "�� ��� 6��(	��H� �	:������ �� �	��%�	�	������ ���

���$� ��$ ��	 6,' ��� ������	 �� ���	����	 
	�$		� ��	 ���������� ���
��������� ���	��� �� �	��%�	�	�����0 
�	 
���� ��	� �� ���� ��	 ���������� ����
�� � ����� �;	�� ��	 ���
�
����) �� �	�	�
	���� � ���	� ��	�	 �� �����������0
1��	� �����	�	������) ��� ���	 ���������	��)� ��	�	 �� �� ���	����	 �� ��)
�� �	�	�
	� ������
�	 ������� ��� �� ����	� ��������
�	 ��	�0 
��� �� ��	
���������� ����053  � ��	 ���	� ����� $	 �������� ��� �������� ���	�	��	

4;6		 K��(	����� '0 -��D�.
4<6		� 	0�0� 6�)�	� -��I2.0
53��� 	���	��	 �� ��	 �	�	������) �� �	���) �� �	������ �� �	��>	�����	�	��� �		 C���	�

-��24.� ,���) -���3.� '����	�� *

	�	� ��� K	��� -��D3.� C���� ��� 6�������� -��I�.� ��
'����) ��� <���	� -���8.0
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��������	� �� �	���	 �	���9	 ���� ��	) ���	 � �	�	����	 �	���) �� ���	�����0

��� �� ��	 ��������� ����0 #	� �� ��$ ����	 ��� �)����	�	� �� ���	 �	����0

����� !��� 2 "� !��#!��* �!*$%& *�� ��������	� �� 	�	�� 
� 
��� �	�


� 
�� ���� �

�� 
� ��� ����/��
�������

!� �� � ������ ��	�	 �� ��	�� -��8I. ��� ��)�������)��� ���� ����
�� �	���� ���	 �� �����������0 '��	�� ��������	 ��)������) ���� �	�����9	�
��	 ���� ���� ���) ���� �� ��	 ����������H� ���������	� ����( �� �����������
�� �	����) ������
�	 ��� ���������� ��������	 ����	����� ��� �	������%��(���0
����	���	� -���I. ��	� �� ������) $��� ��	 ������	�� ��	 ���� ����( �� �	��%
(��$�	��	 ����	������ �� ��	 ����	�� �� ��	 ���� ���(� ��� ��	 ��	���	���
�	�� �� ��	 ���� $���� �� ������)	� �� ��	 ���		� %��� $	 ����� ��)� ��	�	��
�� ?�����	 �	���)@0

�	 ���� ���� ��������	 	�	��� ���	� ������ 
	 �
�	��	� 
) ��	 �	����

$����� $��� ��	) ����� ����	� ��	 �����	�� ���������	��) ��������	� $���
�� ���������� ��������	����) (��$��� ��� ��� (��$��� ��	 �����������054

�����	����	� �	����� �)�	� �� ���� ��	 ���	 ��(	�) �� 
	 �	�	�
	�	� ����
���	��� ��� ���� ����	�� �� ��
F	�� �� 
��� ���	���� ��� 	=�	���� ��J�	��	��
�. 6	��%�	�	���� ����������� �� ����	��	� ��� 	����	� ���	 ���������)B ����%
����)� �	����	����� �� ������	� $�	� 
	������ $�� ��	 �
F	�� �� ��	 ����������H�
��		 �����	 ����	� ���� �����	� 
) ��	 ��������� �� 
) ���	��055 
. !������%
���� ���� �� �	�	���	� ���	� �� 
	��	� �	�	�
	�	� -���		�� ���� �� $�) $	
���� ��� �� 	=��.B ����	��	�)� �� ��	 �� ��	������	� �� ��������	� $�	� ��
	�	�� �������� ��	 ��� ��	��	� ��G����) �� �	�	�
	���� ��	 �	����� �� $���
����	�	�056 �. ���	�� 
	�������� 	=�	��	��	 ��(	� ��	 ����������� ���	
���	���
�	 �� �	���)� 
	����	 ���	� �� �	���� �� ���	 ��(	�) �� 
	 �������	�

) ����������� �����57


�	�	 �	�������� �		� �� 
	 �� $��( �� 	=�	���	��� $�	�	 �����������
$�� ��	 ��(	� 
) ��	 	=�	���	��	�� �� 
	���	 �� � �	��%�	��	������ ����	�
���	� �	���� ��$	� �	��%	��		� ���� 	����	�� $���	 �	����� $�� ��	 ��(	� ��
������) �	��%	�������� 
	������ �	���� ����	� �	��%	��		�058 
��� ��) 
	 ��	
�� ��	 ���� ���� ��	) $	�	 �	� �� �	�	���	 ��������
�	 �� ������
�	 �������%
���� �
��� ��	��	��	�� $���� ��) ����	��	 ��	 ���
�
����) �� �	�	�
	����
���� ����������� ���	� ��0 !� ��������� �	�	����� �������	 �		�
��( �		�� ��
�����	� � -��	%
��	�. ?$��� ���$@ 	;	��� $���� ������������) ��(	� ���	�%
��
�	 �� ��	 ���������� ���	� �������	� �� ����	�� �� �������	 ����������059

����� !��� 3 "�-��!�!�� �� #!#��� #���(!#!��%& *�� ��������	�

546		� 	0�0� 
	�	���� -��I3. ��� � ����������0
55*0�0 ����	���	� -���I.0
566�����	� -���3.0
57��9�� ��� K���� -��I�.0
58���	� 	� �� -��I�.0
59"�		�$��� -��I4.0
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<)����	��� 2 ������ ���� �	���) �� 	����	����0 
��� 	����	�	��) ��
$���� �� ��� ���	�� ���	� ���	 �� �����
��� ���
��� /��	 ���� �� 	A�����	��
-��� �����	�	����). ���	���	������ �� ���� �� �����
��� 	

��
�
� �� �����
���
	�	�������
#	� �� ������	 ���	 ���������� ��� ��	 ��	� ���� ��������� �	���) ��

�����) -
�� �� �����	 ���) �����)O. ��J�	��	� 
) ����������0 6�����	 ����
��	 ���������� $���	� �� �	�	�
	� ���� �	$� ��� ����	� 
�� ��	�0 <	 ���
�	�	���	 ���� �	$�B ����	� ��	� �����	 �� �������	 �		�
��(B5: �����	 �� 
	
���	 ��	A�	���) �� 	�������	��� �� $��� �	���	 $�� $��� �	���� ��� ��
-������	 ��� $��� ��	� ��������	� $���. ���� ���� �����������B �	����
	 ��
���	�� ��� 
�������� �	��������	 �� ���� �� �	 ���)� $����� ��	 ������ ��
���	�����	 -�	 ���� ���) $����� ��	 �	��� �� �����	 �� ����	�	 ��������� ���
��� �����	� � �	�����	 �	������ 
) ���	��.05;

,���	��	�)� �� ���������� ��� ��	 ��	 �	�	����� ����	�� �� ������9	 ��	
������ �� �	��%���	��	���� �����������05< <	 ��� 	���	$ ���������� ��� �	�%
��	 $�� ��) �	���� ��� �� 
�� �	$�0 <	 ��� �	�� �� ��	 ������	 �� �
����	� �������	��� ��� ��(	 ��	 �������� �� &�����H� ���	�� ����� ������� 
)
� ��	�� �� ���$	�� $���� �������� ��	� �� ������� �	����	�B �	 ��� $��(
��������) ���� �� ?����	�@ -�	���)� ��� ����( �
���. � ����	� �	���������� ��
�����) ���
�	�� �� 	�	� ��	 ����� ��� �������0

�	 ���������� ��) ���� ��	 � $��	 ����) �� �����	��	� �� �������� 
��

�	$�0 !��	��	������ �����	��	� ��) 
	 ��	��� �� ���������� ����0 ��������
$��� ���	��	 $�� �������9	� ��	H� ���	� �� � �	����� ��) ��� 
	 � 
�� �����%
	�) �� ���� �	��	�� -�� �����	� ���� ��� �����000.0 �	 ��� ��	$ ���� �����	�) ��
��	����� � ����������� ���� $��� ������ �������	 �	����	����� �� ��	 �	����� ��
��	 ���������0 �� "��
	�� ��� ,���	� -��I2. ����	� ?������ ���	������� �� �
�	����	 ����	=� ��� �	��%�	�	����� 
	����	 ��� �	�) �����	=��) ���	� ���� �� �
?���(	 ���		�@� (		���� ��	 �	��%�	�	����	 ����	�� ���� 
	������ �
�����0@
�����	� ������ $�) �� ����������� �	��%���	��	���� �	$� �� �� �		(

��� ����������� ���� �	�����	� ��	 ����������	�	�� �� ��	 ������� ����063

"������� -����. ����	� ���� �	���	 �	���� ��	 �����	��	 �� ����������� ���

) �������� ��� 
�� 
) ��
F	����� �� �� �����������) ���	��	 �������)0 ���	�

	��� �������9	� �� � �	������ � �	�	����	� $��� ���( ��� ������� �	����� $�)

5:����	���	� -���I.0
5;6		 ����	$��� -��I3. ��� � ���������� �� ���� �	��%��	�	������� �����	��	� ��� ��	��

���( $��� �	��% 	�����	�	��0
5<�	���	��)� "��
	�� ��� ,���	� -��I2� D�. ���	 ���� ?$	 ��� 	=�	�� P�� ������ �� �

�		����Q �� ��	�� ���	 ���	 ������	���� ��	 ����	��� �� ��	 ���	 ����	��	� $�� �����	�
��	 ���F	�� -��� ���:��	� ��� �	��%����	�����. ���� �� ��	 ����	���	� $�� �����(	� ��� ����
�	�������) ?����	����@ ��	 ��������	 �� ���������@0

63��	) -��I�.0
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��	 ����	��	� ��� ���� ����	� �� � �	��	� ���	�	�� �� � ����	���� ��	��)
�� 
��) �� 	���	��	� $�) ��	 ��������� �� ������ ��� �� �����0
!� �� ��������� �� ���	 ���� �� ���� �

 ��
��	��� 	����� 
�	
 
�� �������/

�	� �	� �����
�� 	�� ����	���	��� �������� ���
�����  �� ���	� �� 	A����)
�������	�� $��� � ��	����� ��	$ $�	�	 �	����	� �	� 
���	� �� ��	 �����%
������ -$��� ���	 ���
�
����) �� �	���	�����	.� ��� $��� ��	 ���	 �	�	��
��������	 ��)������) $���� ����� ���� �	���) ���	�� ������ 
	 ��������	��

�� 	������9	� ��	 ��;	�	�� $�)� �� $���� 	�	������ �	� �� 	0��
��4 ��	
�����	 �� ���	����� $�	� ��	 ����������� �����	�� ��	 �	���� ��� �� ��������	
�� ��	� ��� ��	 ����	�� �� �	�	����	 �	�	����� ���	�$����� ��� ����� ��	 �����	
�� ���	����� �� ��	 ���	 ��	 ����������� �� -����������) �� �����	�����). �	%
���	�	�0 ����	 ��	 ���	��)��� ����	��	� ��	 �	�) ��;	�	��� ��	 	��%�	���� ��
��	�	 �$� ��	$� �� �������	� 
	��	�� �� �������) 	A�����	��� ��	 ����������
��� ��;	�	����� ���	� �� �	���� �� �$��	�	��� �	�	����� �� ��$ �	����� ��
������� ��	 ����������� �� �� ��� �	��%	��		� ��� �	�	��� 	G���)0 �	 �����
��	�	���	 ��	 ��	 �	��� ?�	���)@ ��� ?�$��	�	�� �� ���� ������������@
���	������	�
�)0
<)����	��� 2 ����	��� ��	 �����$��� ����	������� �	��	�	�������0 ,��%

���	� �� ����������� �	�	��	� �� ���	 4 
) ��	 ����������� ��� �	� � � 	�� �

�	���	 ��	 ���
�
����) ���� �	 �	�	�
	�� -���	��	�. ���� ����������� �� ���	
�� $�	� �	 �	���	� $�	��	� �� 	=	�� 	;���0 6���	 ��	�	 �� � ���� ������	�

��� �� ����	����� � ��� �� �	��	����� ��� ��	 ��) �	:�	 ��	 ������� ���
%
�
����) �� �	�	�
	���� �� � ��� �� �� ���� $���� ��=���9	� ��	 ���	 4 J�$
��)�; �f0 !���	����� �� �	��	����� � ������	� � ?�	���) ����@ � ���� �0	0�
� �	������� �� �f� $��� � ��� � � �� � � ��� 
 � ��� � � �� ��� � � ��� � �
��� � � �� �

64

!� �� $���� 	������9��� ����� ���� ���� ����	������� ����������� ��	�
��� ���	����) �	�� ���� ��	 ���������� ��� ���	�� ������� ��	� ��� ���	 ��
�	����� �� ��	� $���� �	����	� �� (		� ��� $���� �� ����	�0 
�	 �������
���	 �� �	���� -�� ��		� �� �	���) �	��). �� �	�	����	� 
) 	=��	���� ���%
���� -����	��	� �		�
��( ���� ��	 	�������	��� 	��0.0 �) ����� ��	 �������

64�������� �� ����� �		� ������������� �� �� $���� 	������9��� ���� ?����	�����@ �	���
���� �� ������ ���� �� ����������� -� �����	���� �� ��	 ������������� ���������. ������0 !�
����������� �� �� ���	 � ��	 ���������� ?��	� ��� �	�	�
	�@ � ������ � �	�	��	� �� ���	
4� �	 ���� ��	� ��� �	���� ��) ���	� ��	�	 �� ����������� ���� �� �	��	���) ����	���	� $���
�� 
���� $�	� � ��;	�	�� 
 �� ����	� �� �	�����	 �� ��;	�	�� ������� �� �� ����	����� ��	�
����� ��	 ���������� ���� ��	� ��� �	���� $���� ����� ��
� $	�	 ������	� �� ��	 ����	��0
'��	 �	�	����)� ��	 ����� ����$ � �� 
	 � ����) �������� �� 
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